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How many people live in Austria today?

5. AUSTRIA’S POPULATION

1 The development of the Austrian population

In January 2015 there were 8,584,926 million people in Austria. 1,146,078 million people were
foreign citizens (about 13% of the total population) and more than 1.7 million people (about 20% of
the total population) had a migration background. Vienna is the province with the most inhabitants,

Burgenland the one with the least inhabitants.

Province Population Provincial Capital |Population
Burgenland 288,356 Eisenstadt 13,664 |
Carinthia 557,641 Klagenfurt 97,880
Lower Austria 1,636,778 St. Pélten 52,747
Upper Austria 1,437,251 Linz 197,427
Salzburg 538,575 Salzburg 148,420
Styria 1,221,570 Graz 274,207 |
Tyrol 728,826 Innsbruck 126,965
Vorarlberg 378,592 Bregenz 28,696
Vienna 1,797,337 Vienna 1,797,337 |
{source: migration.gwv.at, Statistik Austria, 1.1.2018)

Task 1: Color the map of Austria’s

federal provinces the following way: all

the provinces with less than 500, 000

inhabitants in blue, all the provinces

with more than 1,000,000 inhabitants -

in red, all the others in yellow. Put the e

names of the provincial capitals next to o ;J N

the correct signatures on the map. . f,] M
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What is the w=birth rate? What is the wdeath rate?

That is the number of (live) births in a year per | That is the number of deaths in a year per
1,000 of population. 1,000 of population.
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[ growth mainly by high immigration

[ ] nogrowth

Task 2: Answer the following questions with the help of figure 1:

How many inhabitants did Austria have at the beginning of the 20th century?

Vocabulary: inhabitants = Einwohner

! migration = Wanderung

migration balance = Wanderungsbilanz
population balance = Bevolkerungsbilanz
provincial capital = Landeshauptstadt

birth rate = Geburtenrate

death rate = Sterberate

emigration = Auswanderung

foreign citizens = auslandische Staatsburger
immigration = Einwanderung 1
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Population development until 2030, projection for NUTS-3 regions

LH@; decrease or increase in relation to 2009

:l decrease by more than 5%
decrease up to 5%
increase up to 5%
increase 5 to 10%

@ET}'P increase 10 to 15%

- increase by more than 15%

source: Statistik Austria

AT111: Mittelburgenland
AT112: Nordburgenland

AT113: Stidburgenland

AT121: Mostviertel-Eisenwurzen
AT122: Niederdsterreich-Sid
AT123: Sankt Polten

AT124: Waldviertel

AT125:; Weinviertel

AT126: Wiener Umland/Nordteil
AT127: Wiener Umland/Stidteil
AT130: Wien

AT211: Klagenfurt-Villach

Figure 2: Population development until 2030

AT212: Oberkarnten

AT213: Unterkarnten

AT221: Graz

AT222: Liezen

AT223: Ostliche Obersteiermark
AT224: Oststeiermark

AT225: West- und Siidsteiermark
AT226: Westliche Obersteiermark
AT311: Innviertel

AT312: Linz-Wels

AT313: Mihiviertel

AT314: Steyr-Kirchdorf

AT315: Traunviertel

AT321: Lungau

AT322: Pinzgau-Pongau

AT323: Salzburg und Umgebung
AT331: AuBerfern

AT332: Innsbruck

AT333: Osttirol

AT334: Tiroler Oberland

AT335: Tiroler Unterland

AT341: Bludenz-Bregenzer Wald
AT342: Rheintal-Bodenseegebiet

Task 3: Study figure 2 and find out:

In which Austrian regions will the population decrease by more then 5%7?

decrease = abnehmen

increase = zunehmen
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5.2 The age structure of the Austrian population

Figure 1: Austria's izrpopulation pyramid 2015
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Task 1: Around which age do you find the most male and female people? h
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Vocabulapys. |k MU Sk il = mAnalich il
female = weiblich i
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male 85 and older | female male 85 and older| T female

80 to 84 80 to 84
75t0 79 75t0 79
70to 74 70 to 74
65 to 69 65 to 69
60 to 64 60 to 64
55 to 59 55 to 59
50 to 54 50 to 54
45 to 49 45 to 49
40 to 44 40 to 44
35t039 35t0 39
30 to 34 30to 34
25to 29 25to 29
20to 24 20to 24
15t0 19 15 to 19
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Figure 2: Austria's age structure 1900 Figure 3: Austria’s age structure 2050

Task 4: Describe the population pyramid of Austria in 1900. In which age groups do you
find the most people?

Task 5: Describe the population pyramid of Austria in 2050: In which age groups do you
find the most people?

Task 6: Complete the text about the development of the Austrian age structure with the
words given in the box below:

fewer old— more old — growing number — declining number — problems — old-age pension - more
young- to pay— fewer young-— increasing

In 1900 there were _people in the lower age groups and

-------------------------------

people in the higher age groups. So there was an

R R ] R R ) sesess s e e R ey

.number of people for the job market and a high number of

........... sassmasssas Es R EResERE s

PEOPIE ...t eiaiiieiens for old-age pensioners. In 2050 there will be
............................ e ... inthe lower age groups @nd .. ... ...
in the higher age groups. As a result there willbea _........... ool e o L Py of
old-age pensionersand a_..................... TR TR S L . ... of working persons
to pay for old-age pensioners. This change will lead to ... .... e Nrs | ol . .........onthe job

market and in the

Fiag
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5.3 Immigration to Austria

4 176,463 Germans

‘ 116,626 Serbians

! 116,026 Turks

93,973 from Bosnia and Herzegovina
82,949 Romanians

; Figure 1: Who lives in Austria? g 599,200 inhabitants

; i i 6,701,100

! Task 1: Analyze Austrians without /

: figure 1: Where do migration background

‘_ most foreigners in |
1 Austria come from? |
gi | 648,800
1 - Austrians with
/ oSS S S migration background

' 1,261,300 Foreigners e T

70,248
83,550
57,589
35,618
35,326

Croatians
Hungarians
Poles
Afghans
Slovaks

citizenship = Staatsbiurgerschaft

fixed-term employment = befristetes
Arbeltsverhaltms

Vocabulary: flooding = Hochwasser

permanent immigration = dauerhafte
Einwanderung (mit Staatsburgerschaft)

_cultun.'a.l ciiversﬂy'=' kulturelle Vielfalt persecution = Verfolgung
dl'OUth_- Durre_” Ly i _ temporary residence = voriibergehender
economic growth = Wirtschaftswachstum Aufenthalt

vy T
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Task 2: Try to find some reasons why immigrants come to Austria. Complete the
following table:

Type of immigration Reasons for immigration
refugees

guest workers

fixed term employment

students

Task 3: Analyze figure 2:
a) In which years was the immigration to Austria especially high? ....................coviveeviennn, '

b)

..........................................

In which years was the emigration from Austria very high?

Figure 2: Development of immigration to/ 120,000
emigration from Austria
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integration — school — more skilled workers — intercultural learning - problems with housing/flats |

il

— unemployment may rise /not enough jobs — language learning — more young people — cultural |
diversity — security problems — more consumers/ economic growth :

Positive aspects of immigration Negative aspects of immigration
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5.4 Where the Austrians live: different living environment in Austria
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Population density Figure 1: Population density i i
related to the ecumene (area of permanent settlement) ¥ ¢ en8|ty i i

50 100 150 250 500 inhabitants per 1 km?
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Task 1: Which Austrian cities are situated in areas with low population density (under
100)? In which federal provinces are they situated? In which Austrian natural landscapes
are they situated? Complete the table below with the help of your atlas: l
Name of the city Natural landscape Federal province 1
Ju= ‘
|
Ze= |
|
Ho =
Mi = .
Fr=
Zw = |
l
Br= '
|
Task 2: Create a similar table as in task 1 for the other cities marked in figure 1. Write this
table into your notebook and use your atlas. -,
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Figure 3: Judenburg
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www.austrianavialionart.org
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Figure 4: Braunau Figure 5: Mistelbach

Task 3: Analyze the pictures of the cities given above. What do these cities have in
common?
Task 4: Which differences can you detect in these pictures?
Task 5: Which parts of Austria are only thinly populated? Why?
Task 6: Which parts of Austria are densely populated? Why?
 Vocabulary: population density = Bevslkerungsdichte |

‘| rsarea of permanent settlement = thinly populated = dunn besiedelt

Dauersiedlungsraum
have something in common = etwas
gemeinsam haben
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